Fitting result for S I

Correl.
1
0.9
0.8
0.7
0.6
0.5
1
g.8
0 :
O A
Ratio of Vi, 3 4 0
to Vie, Y [%] 5
Temp. factor, B [Aﬁ
B =0.45A%
Yy =4%
022 (r =0.964
12 . . . .
Experimental
10 Calculated

(0¢]

Normalized Ihtensity [%]
(o))

20 40 60 80 100
Thickness [nm]

000 (r =0.999

Normalized Ihtensity [%]

Normalized Ihtensity [%]

100
90
80
70
60
50
40
30
20
10

=
N

[

o
0

o
o

o
~

o
N

0

Experimental

Calculated |

0O 20 40 60 80 100
Thickness [nm]

—0.959

Experimental

——

Calculated A

0O 20 40 60 80 100
Thickness [nm]



